31 01 21

G )

12,407 | 12,447 | o | 50| |

(H27

)

H29 )

(H31 )

66.9 (H25 )—69.5 (H3L)

67

68

70

0000107906




H27 |He8 [H29 [H30 [H31

A07-001 ] 4
A07-002 ] 17
A07-003 L=911 | BN B 160
H30
A07-004 L=6,601 | BN B 1,796
H30
A07-005 72,4 " | = 160
00m3/
A07-006 | BN B 94
19,800m3
/
H30

0000107906




H27 |He8 [H29 [H30 [H31

A07-007 0.68m3/s . 40

A07-008 3,600m3/ S I I I 550

A07-009 | . | . | | 5| |
A07-010 | | . | . | 5| |
A07-011 | | . | . | 5| |
A07-012 | | . | . | 5| |
A07-013 | | . | . | 5| |
A07-014 | | . | | 7| |

0000107906




H27 |He8 [H29 [H30 [H31

A07-015 L=180m . 8
A07-016 . 3
A07-017 . 3
A07-018 a | = 30
A07-019 a | = 15
A07-020 L=2,250m a|nm 334
H30
A07-021 | | . | | 13 | |

0000107906




H27 |He8 [H29 [H30 [H31

A07-022 . 6
A07-023 L=400m N 73
A07-024 [a [ ] | 21| |
A07-025 . 7
A07-026 L=350n - 55
A07-027 L=150m - 26
A07-028 - 40

0000107906




H27 |He8 [H29 [H30 [H31

A07-029 L=7,920m a|nm 808
H30
A07-030 L=8,590m a|nm 734
H30
A07-031 | | . | . | 8| |
A07-032 | | . | . | 8| |
A07-033 a | = 18
A07-034 L=17,200m a|nm 1,501
H30
A07-035 L=21,000m a|nm 2,394
H30

0000107906




H27 |He8 [H29 [H30 [H31

A07-036 L=100m . 35

A07-037 n n n n 30

A07-038 | | | | . | . | 60| |
Ha1

A07-039 L=13,740m "= 2,012
H30

A07-040 3,550m3/ "= 735

A07-041 3,550m3/ " |m|m|m 390

0000107906




H27 |He8 [H29 [H30 [H31

A07-042 2.0m3/ . 80
A07-043 L=170m . 14
A07-044 |-|-|-|-| 25| |
A07-045 L=420m . 42
A07-046 | . | | | | 8| |
A07-047 | | . | . | | 9| |
A07-048 | | . | . | | 9| |
A07-049 | | . | . | | 9| |

0000107906




H27 |He8 [H29 [H30 [H31

07-050 . :
o7 051 . ;
07052 . ;
07-053 . 3
h07-054 . 20
| 1] ] 27| |
| L] ] |

0000107906




H27 |He8 [H29 [H30 [H31

C07-001

3,550m3/

50

0000107906




H27 H28 H29
@) 1,634 1,644 1,532

) 0 0 0

(c=a+h) 1,634 1,644 1,532
(D 319 395 439

e) 1,558 1,600 1,554

) 395 439 417

49 210 167

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 2.5 10.29 8.47

10

0000107906



